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Question Number : 1 Question Id : 8728341058 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Among the following, a pair of numbers which are not co-primes is
S-S RELTA >8S BTN EEToTer T dopje wd

Options :

|« 20,21

7.9

2. %

Question Number : 2 Question Id : 8728341059 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

. . 7 .
The decimal expansion of o 1
7

— S, dTed Sxde
80 o

Options :
0.0375

1. %

Question Number : 3 Question Id : 8728341060 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
If A= {1,2,3,4,5}andB ={3,4,5,6,7} thentheset A— (A—B) 1s
A= {1,2,3,4,5} 5:8cs B =1{3,4,567} o5 A— (A— B)%0®

Options :

£1.2,3.4.5.8 7}

1. #

{3,4,5}
2.

3. % {12}

{3,4,5,6,7}
4, ®

Question Number : 4 Question Id : 8728341061 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The zeroes of the polynomial x® — x? are

X3 —x? 2Fvde Sef), Ty
Options :
L 0.0.1

]

2. 8

1, L1

0,0.0

4. %

Question Number : 5 Question Id : 8728341062 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Thevalueof2 14+ 22423 42% i35
27042774270 27 Doy, Qe
Options :

2

1. %

b | =



15
16

10
16

Question Number : 6 Question Id : 8728341063 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The solution for the pair of equations x + 3y = 6 and 2x — 3y = 12 1s
X+ 3y = 6 b8ty 2x — 3y = 12 325ewr0 2 B, PP

Options :

1. % 0:2)
2. % (3,-2)
3. % (0,—4)

4.9 (6,0)

Question Number : 7 Question Id : 8728341064 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If the roots of the quadratic equation kx(x — 2) + 6 = 0 are equal, then the
value of k’1s

kx(x —2) + 6 = 0 555238m0 Soo¥), Soreres d5rvo sond kK deos

Options :

6

1.¥

Question Number : 8 Question Id : 8728341065 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Among the following, an equation that 1s not quadratic 1s
G130 ES SEEWETmo T

Options :

¥2x4+3)=x*31
- (x—2)2+1=2x-3

¥ 4+3x+1=(x—-2)>
3.¥

(x+1)2=2(x—3)
4. %

Question Number : 9 Question Id : 8728341066 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

For a circle with center ‘O”, XY is a tangent at point P. If ZOQP = 40°,
then the measure of ZQPY 1s
‘0" Boor Ko N8 P Doy 58 AbS 5By XY goz LOQP=40°

sons LQPY Sfod

N
/

4w 60°

Question Number : 10 Question Id : 8728341067 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
If AABC~APQR and ZA = 50°, then the measure of /Q + /R is
AABC~APQR 5:8c%s /A =50 eod Z/Q + /R Fod

Options :

o D
o 130

Question Number : 11 Question Id : 8728341068 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Among the following. the one that 1s not in Arithmetic Progression is
Te (300 ;ES°, 0¥ (3§ WO
Options :

| x 5,088 ...
. 9,14,19,24, ..

13.15,18 22,

3.¥

21,17,13.9,

Question Number : 12 Question Id : 8728341069 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The compound interest on a sum of Rs 2000 for 2 years at the rate of
10% per annum, if the amount is compounded annually is (in Rupees)
2000 srdrche 10% 363&0 SpS $oSSTIL w30 3G DY, Sy

aé@é’g 2 ;c::m:f:]mu..a @353: ﬁl"&i& (ErSrases?)

Options :



s % 2420

4w 4420

Question Number : 13 Question Id : 8728341070 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Among the following, the measurements not suitable to construct a triangle are
&t (800 TBS X BFozo Eﬁﬁécn'ﬁa‘ﬁ% POREI Foden

Options :
. 84,13

v 84,4

5610

3. %

84,3

4. %

Question Number : 14 Question Id : 8728341071 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The distance of the point (2, 3) from Y-axis 1s
Y-wfe sel (2,3) Dodds N &rde
Options :

V5

1. #®

Question Number : 15 Question Id : 8728341072 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Among the following, which one has value equal to 17
So (208 ST, B denis 18 vErTo
Options :



sin 60° cos 30° 4+ cos 60° sin 30°
1.

, €os 60° cos 30° + sin 60° sin 30°

tan 60°+tan 30°
1—tan 60°tan 30°

4 % sin60°+ cos30° + cos 60° + sin 30°

Question Number : 16 Question Id : 8728341073 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If an unbiased dice is thrown once, then the probability of getting a prime
number on its top face 1s
5 S}Q’Jéﬁ POEN 3P0 SPOoVNHE, TP B Hopo BN dopy oSS e
DoPTES éﬁ
Options :
1

Lv 2

W] =

o | =

3. %

w ]

Question Number : 17 Question Id : 8728341074 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If the surface areas of two spheres are m the ratio of 1 : 4. then the ratio
of their volumes 1s
Tods Aere &Bdde ?.:e'e:ﬂéw E}ﬁn}@_ 1: 4 es005 508 Podb5rere .‘Os'aq}@'

Options :
 x 1: 16



2. %

3 % 1E 12
1:8

4.

Question Number : 18 Question Id : 8728341075 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The median of the observations — 3, —5, —8, 0, 3, 2, —10 1s
—3, =5 -8,0, 3, 2, —10 oo mc‘égﬁﬁo

Options :

| 2
2. % 0

3% — 10

4.«/_3

Question Number : 19 Question Id : 8728341076 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If the side of a square 1s increased by 10%, then the percentage of increase in

its area 1s

28 SHUE FPowod® DB 10 % wons o Serejed® BHbEe o
Options :

109%
21%
2.9

- 20 %

L 11%

Question Number : 20 Question Id : 8728341077 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
[f the price of a book mcluding 10% GST 1s Rs 880. then the original price of the
book is (in Rupees)

25 HidZo Je 10% GST &° 30a 830 trdrcihes sons & PdSo vbes Jo

(ErDreHro8)

Options :

|« 968

) % 792
s« 960

, v 800

Question Number : 21 Question Id : 8728341078 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a translucent material?
2o& &S e fvptelale)ic Sergo 8?

Options :

Glass Plate

| x ree» Hek

01l Paper
|, SR oAso
2.

Plastic Plate

aRE 285
3' 33 [ag ] 5] (s ]

Mirror

©s0
4. % @

Question Number : 22 Question Id : 8728341079 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The mstrument which 1s useful to measure the volume of a stone
oo FoXH8Srrd) SPediaeE SHDPHDHG HBX80

Options :



measuring Jar

| ol

graph paper
(e =hgo

barometer

805

galvanometer
m@;ﬁ@:&aS

Question Number : 23 Question Id : 8728341080 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following symbol indicates fuse in an electric circuit
Bod =&&* & Do Desygs Sochod® ES et RS ATSoT A

Options :

Question Number : 24 Question Id : 8728341081 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is a field force
Bod =&&° ZBneo
Options :
Muscular force

| % BSot8 meo



Magnetic force

edhHTos neo
2. % o

Frictional force

?{:.Jdgza al3le)
3%

Tension force

4% éc‘ébéruwo

Question Number : 25 Question Id : 8728341082 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Among the following, Sound can travel through
Bod &6 B&ivom &R [Wairdosiied

a). Wood b). Water c¢). Vacuum d). Air
35 D% 50 gal))
Options :
a.b.c

1. %

b.c.d

2. ®

a.b.d

3.¢

L w acd

Question Number : 26 Question Id : 8728341083 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following letter does not show lateral inversion in a plane mirror
Bod T8S° D oo Shde SGmo &8 Yy &0 AroBSeyT ERWROE

Options :

1. ® B
2v A

3.33[)



4.33(:

Question Number : 27 Question Id : 8728341084 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s an acid?
Bod =&&° eso

Options :

CH, COOH
1LY

Na OH

NH, OH

3. %

KOH
4. %

Question Number : 28 Question Id : 8728341085 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a chemical displacement reaction
od s&E° BFaDS F¥god S8,

Options :
2Mg +0O,—2MeO

2Ag Br—>2A4g+Br,
NaOH + Hel - Nacl+ H,O

Fe+ CuSo, — FeSo, + Cu

Question Number : 29 Question Id : 8728341086 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is heterogeneous mixture
Bod =8S° DBch Qoo

Options :



Salt + water

adp + A

Sugar + Water
S8 + B

Alcohol + Water
sORFS + 5%

3. %

01l + Water
sra + D%

Question Number : 30 Question Id : 8728341087 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s known as liquid gold?
208 &6 B (55 porrdo o Sroe Lerdd

Options :
Paraffin wax
Foede o

1. ®

Diesel
&2

Kerosene
, x B5°RS

Petroleum
2|*Dakho

4.+

Question Number : 31 Question Id : 8728341088 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the incorrect pair of vitamins and their deficiency diseases
DKy DB & %o Sg XN aEHe B0 w8 HBoNos

Options :



Biotin — Nervous disorders

2@TrEI - T8 Sopod Sodren
1. ®

Niacin — glossitis
RS - epéS

2.
Pyridoxine — Anemia
2OTES - fetvt
Ascorbic acid — Scurvy
@%}_5335 OrHE - HHbe

4. " s

Question Number : 32 Question Id : 8728341089 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of these sanctuaries is located in Jayashankar Bhupalapalli district?
20DPoEE rare B Rerd® af) mok So¥Em Zoldo

Options :

Eturunagaram Sanctuary

Do Terrdo o SodEm TolBo
1. v

Kawal sanctuary
X565 a0 HSo8%e Solo

Pakala sanctuary
srore mod Sod%e TolBo

Kinnerasani sanctuary

4 x BRPBFD 08 SodEes Zolo

Question Number : 33 Question Id : 8728341090 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The Human digestive system is incapable of digesting
NS ég a’a;a’ag D& égo Sfoveln®

Options :



Lipids
DHGen

1. ®

Roughages
) émﬂcsw
2.

Proteins

G
3. %

Starch

2of Horoeen
4. ® ©

Question Number : 34 Question Id : 8728341091 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identity the correct sequence of ovum movement in the female reproductive
tract from the following
od 86" (§ Bpds JHRS° worio LEDE Srdo Gk ELry) 1HBoSod

Options :

Ovary  —>fallopian tube - uterus - cervix = vagina
. & Dus’do D $&*000S wo¥o D HonFabo 2 Ao D @R

Ovary - uterus > fallopian tube -2 cervix =2 vagina
& Dusbdo> Hondabo > FE*wadS TFo D ((ido > @R
2. %
Ovary  —>uterus 2 cervix—> fallopian tube -2 vagina
. & Dastio> oy 8cho 2 %o 2 FHAHS TFo 2 @0
3,
Ovary —> fallopian tube > cervix - uterus -2 vagina
& Dast®o 2 FEHa0S o Vhso  Difondabo P TR
4. %

Question Number : 35 Question Id : 8728341092 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The cells produce antibodies to kill pathogens in our body are
508 680t T30 e SoHERE ($8 BFod a8 T Loren

Options :
Lymphocytes

1. Do ReR
Erythrocytes

L 0ERER
Monocytes
e e
Thrombocytes

L x FoTRE

Question Number : 36 Question Id : 8728341093 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following animals are not cold blooded?
208 T8 dse 8% £Hen =0
Options :
Fish

-t
=D

Crocodile
FRvert S

2. ®

Dolphin

ead D)
3. % O:I

Frog
=)
(%]
4.%

Question Number : 37 Question Id : 8728341094 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The number of salivary glands in Human buccal cavity
S0P @E&éﬁaéﬁéoﬁa erorae [Hofoe Féosp;
Options :
3 Pairs
L v 3 esdien
4 pairs
4 a3efen

2 Pamrs
. 2e:8ew

Pairs
23éden

L

4.%

Question Number : 38 Question Id : 8728341095 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Water vascular system also acts as excretory system in animals belong to phylum
< B oo’ DO (B8 éﬂf‘}é‘{g VN el éﬂf‘}égm e DT
Options :

Mollusca

Arthropoda
@[_ﬁgéﬂﬁﬁ

2. %

Annelida
LTSt D ol

Echmodermata
2B LT

Question Number : 39 Question Id : 8728341096 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Identify the incorrect sentence from the following
Bod T&S° 3850 TR HBoSod.

Options :
Electricity 1s also produced from the air and tides of the oceans
Sere ol JEn(EH veo Hod EHEs IFD

The radioactive wastes possess radioactivity for at least one million years
3&@@*8@5 35505@ %008 JenSa E&@F@B@ﬁ oTalacul S vl widc6)!
- 10 ofp Joddore 8% (Harard) ZONErs sotron.
Non-biodegradable waste consists mainly of Human and animal waste
085 Jomod Srored® Sogrorr SIS B modHHe SrorenodEon.
3 & &= (A (] [ B
Organic carbon 1s converted to carbon dioxide and water, which can cause

atmospheric pollution and acid rain
ZDE =S D& «98 HBIw 8N 8 €26 ) Bod FrEeNSes

L Scenso 0B ey Sumen HBHERE P

Question Number : 40 Question Id : 8728341097 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The experiment given in the picture illustrates
H008® aFals (Hdrito BAD HBos

Options :

Release of carbon dioxide during respiration

% (BBcd € =5F g «B)E Do
1.¥

Release of oxygen during respiration
. TR0 (BBoh &° efd ddde



Release of Heat during respiration
ol (BBad & afo dhse

Release of oxygen during photosynthesis
Beoesy Ho@PH(Eane® efmS dbde

Question Number : 41 Question Id : 8728341098 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Coastal region spread n the State of Goa 1s
Reae mépﬁﬁ DBk 8% (@oso

Options :

Canara Coast
2doe B8Frogo

1. %

Utkal Coast
ad)f &38arodo

2. ®

Konkan Coast

EPo¥d H8|@oso
3. ¥

Malabar Coast
Sowrd &8|Froso

Question Number : 42 Question Id : 8728341099 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The urban areas having population between One Lakh and Ten Lakhs are
ol of Lol I8 ofe S5 af) a’Jéégs-a (Zroz=en
Options :
Mega cities
S0sFRNTEen

1. ®

Class 1 cities

o 1 Siioeen
2.9



Metropolitan cites
EPFO0T Hiforen

3. %

Towns
Héreren
(%]

Question Number : 43 Question Id : 8728341100 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
If the time at 45° east longitude i1s 10:00 a.m . then the time at 30° west longitude is
45° Ee8) Bgrodo éé Ssbabo edcho 10 Hoten eond)t 30° 8yeo Berodo

P JHhaho Jos?
Options :

5:00 am

&&Scho 5 Hoden
1.+

3:00 pm

53::3?‘”.3&0 3 HNoden
2. %

3:00 am
&ddho 3 Noden

5:00 pm
Fado(Bo 5 Hotew

4.%

Question Number : 44 Question Id : 8728341101 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The layer m the heterosphere 1s
D50 B 658p08° soi &8

Options :

Stratosphere
@;eﬁ* w580

Mesosphere
. SR edbeeo



Troposphere

(°RF w80
3. %

Thermosphere
Cﬁﬁsé w80
4.4

Question Number : 45 Question Id : 8728341102 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

These are represented by ‘dark grey’ colour in the Maps
Heres® St ards SoH& HED SrdFH

Options :

Cropped area
Dodren FHPSHY) @roso

1. ®

Wastelands
Domto ghranen

2. %

Mountaimns
a’:é;ww
3.

Hills
roéoen
4. % -

Question Number : 46 Question Id : 8728341103 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Mandal Comnussion recommended reservation for these people
HooiS ENS DHB8 BTNy ool bErsH Bhod

Options :

Other backward classes

v 388 IoBabED SEiiben
1. %

Upper classes

) ﬁé&é aﬁcge.w



Mimnornities
Fob&en

3. %

Scheduled castes

AEerd Xeren
4. % o

Question Number : 47 Question Id : 8728341104 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

This was not a cause of discontent among the people of Telangana before the
tormation of the State

oeg0 AB)EE Hno, Bworre Paed® edod)

98 =80 =0&.

Options :

The Chief Ministers were from Rayalaseema

orohedd od Sogribogen TEE0
1. v

Diversion of surplus revenue from Telangana to other regions of the State
BoorrE B3&e; Qorbendd 388 (Frozred DHfosto

Discrimination in employment in government sector
508 arHS® IS

3. %

Granting of domicile status to coastal Andhra persons working mn
Telangana region

Boorrn (Frodos® HRTLK) TR oly Srhed =05 Fo $D0s%0
4. %

Question Number : 48 Question Id : 8728341105 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The king who dissolved parliament and ruled without parliament in England was
soroH S SFETotnso dc:fgﬁfo FETootn Bhomrn Dol Toa

Options :
James — 1

w 5&53(3—1



Charles — 1

, v T80 —1

William of Orange
DOoHo w5 widos

3. %

Louis — XVI
e — X VI

4. %

Question Number : 49 Question Id : 8728341106 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The foreign traveller who visited Rudramadevi Kingdom was
BBHBD Tergl) $o8BeS DBE i@

Options :

Nuniz
. 66?5&):5

Abdul Razzak

e St
2. ® [

Domingo Paes
. EPnoft Hond

Marco Polo
5;:.5% N

4.9

Question Number : 50 Question Id : 8728341107 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The Mahajanapada that had republican form of government was
SsFRdBToS” Krdol@ (Hibdo SR

Options :
Magadha
0N

1. %

Kosala

5 % 5%



Gandhara

3 % moEs

Vajji
S8
4. %

Question Number : 51 Question Id : 8728341108 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The Constituent Assembly adopted the constitution on
ma?goﬁ s T2 0P ©TrBoDS T

Options :

26" November, 1949

v 26 508, 1949

26" January. 1950
26 2858, 1950

2.8

26™ November, 1928
26 5026 1928

26" January, 1949
26 2%:58 1949

4. %

Question Number : 52 Question Id : 8728341109 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

This 15 not included in the concurrent list
ﬁa"’né& DX Somohotid wodo

Options :
Industries
BBFoen

1. ®

[rrigation
Frodd
2.



Electricity
D&y

Factories
ﬁc:“érﬁoﬂ@

Question Number : 53 Question Id : 8728341110 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

This 1s not a part of the right to equality
$ErHERY LSt grifo =08
Options :
Abolition of Untouchability
SISV Do

Abolition of Title
D0 58

2.8

Right to life

£DoT FEn
3.¥ =

Equality of opportunities
oiTod® DErHSE0

4. %

Question Number : 54 Question Id : 8728341111 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
An Officer who conducts and supervises the election in a constituency is
58 dTreess aﬁfgoﬁ& AQBen VB ErosERE, éé;ﬁéoém&h& 506 ©BTH

Options :
Polling Officer
| % SPOof ©§=8

Returning Officer

B&dof @fsb
2.9



Presiding Officer

. BRb&ol @85
3.

State Chief Election Officer
U‘é Pord e ehss

Question Number : 55 Question Id : 8728341112 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The State in which ‘Silent Valley movement’ started is
B0 Td aoo’ (ol oo

Options :

Madhya Pradesh
L SEEBE
Tanul Nadu
L« SDETS

Kerala

Lo 0¥

Gujarat
aoes

4.%

Question Number : 56 Question Id : 8728341113 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

This does not belong to Community, Social and personal services
(Bez=, PSR, a’iﬁh’é DS BoXss
Options :
Defence
S
1. %

Library
([Nogreciren

2. %



Media
(B Soegiiren

3. %

Services of brokers
S mden
4.

Question Number : 57 Question Id : 8728341114 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The portion of India’s population to whom the National Food Security Act
applies 1s
HBH eFS H5S 5620 5808 TBERE smrar Dok

Options :

%4

Y4 % Hod
1. #®

3 & Ho
2. %

1
L x /25 S0

L

Vi 8 0%
4. ®

Question Number : 58 Question Id : 8728341115 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The mvestment that 1s spent on the raw material to complete the production
6$)8 8 ToHERE SnddHd i IPeD Dignd
Options :
Fixed capital

28 08
1. 33 @ (5]



Physical capital

TE Depod
2. % "

Working capital

Qoo eeE enad
v ®

Loan

20630
4.%

Question Number : 59 Question Id : 8728341116 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Goods and Services Tax (GST) was mtroduced in India in the vear:
TEEBES® % e DY (2.98.8) @3%&@5 Jod&Bo

Options :

v 2017
L« 2016

. 2018

L 2015

Question Number : 60 Question Id : 8728341117 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
There are no restrictions on the number of times you can deposit and withdraw

the money from the following Account:
€od groe Kol IFHonee Saxyen é"m.ﬁaéﬁg‘j,, 2350 365353&53&, &‘J&'&E HBHS T

Options :

Fixed deposits
DEVG Sarmen
1. %

Basic Saving Bank deposit Account

- |Z=BE0E oD e



Recurring Deposit Account
8%8oN &R oo

Current Account

E8otn g

4.9
Teaching Aptitude

Section Id : 87283437
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 87283444
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 8728341118 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The most effective method of teaching 1s
©E0SHFHHoSHS ST HE8

Options :
Lecture method

BT P&
1. & o (w}

Demonstration method
BEGS $58
A}

Experimental method
[BEorrrS)E H88
% ]

Experiential method

SRS E D58
4. v =

Question Number : 62 Question Id : 8728341119 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Teachers relationship with students should be
&)wgé&aés ﬁa&:;gdﬁwﬁ}ﬂ Boddedd SonoXo

Options :

empathetic

| SRR

friendly

-
RN ) e e

sympathetic

punitive

L %hs:égﬁorw

Question Number : 63 Question Id : 8728341120 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The real goal of education 1s
D&y Tz Dayghd Ko

o [
Options :
securing diploma or certificate
Adrsr S POHES ostim

mastery of subject matter

PVBE D By FHoSEI»
) ® mE — &

acquisition of knowledge, skills and values
=0, SadeTsien oBain dende mm&gé
3. ¢

training to make a living
2DoURE B Toto

Question Number : 64 Question Id : 8728341121 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The source of educational objectives 1s
DT rwo

Options :

Educational psychology
Daee ;'1::'6'53333‘%@@0
= =

human experiences

SRS efodizren
2.9

colleges of education

_ BCIE XgeIoeeD

professional organizations
BDBDY Joen

Question Number : 65 Question Id : 8728341122 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is not correct
8od T&S° DB $BHO =

Options :

education for life

L0908 D&
1. % =

education through life

£D%o oo DEr
2. % (%] o

education throughout life
£Dzrodo O,

education for job
ﬁaﬁaéﬁo E°So D&y

Question Number : 66 Question Id : 8728341123 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



When you make a mistake in the class. you would
St S5186° 85 DY Lo

Options :

forget the mustake

. S S84k =%

acknowledge the mistake

S35 @ohiZdFH
, » 29 mohicoo

ignore the mistake
| S 0BFS

convince the students

™ i=olbS =
L S)m‘ﬂéga@ @ga@w

Question Number : 67 Question Id : 8728341124 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is the highest priority to the teacher?
2od 86" D& aargydindd o808 (Srordzode

Options :
Maintain discipline in class
B818S° (EHBE S&othed

1. %

Conduct exanunation and give feedback
éég Qdrod, éﬁ@%}_ adro

Make students prepare assignments
Dorsed” ©pIHoen Bowoto

Develop the skill of learning how to learn
Jer ©FHoTD oo STl 2oFoboito

Question Number : 68 Question Id : 8728341125 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



A generalized idea suggested to the mdividual by object, symbol or situation
5, Do Slond 5’36?&}38 oo a’:ﬁ& Srdodntd Arrde RS
Options :
Concept

L v T

Generalization
SoBhESe

theory

=]
3 % :am;oéo

principle
, SO

Question Number : 69 Question Id : 8728341126 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Short term targets which are specific in nature and achieved n a few hours or days 1s
é@jﬁé@é Qo ¥OA £°Q) Hoben oo Gsaa:éi FB03 ﬁ;@ﬂ}?@ﬁ@?@

Options :

goals
1&3esen

aims

B Tren
0 ® w o

objectives

o
@ﬁﬂ@

education
&Jeﬁ;

Question Number : 70 Question Id : 8728341127 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



What 1s more important while writing on a blackboard
Boog P ([Trbd)d SEomd)d Sngd Hhcho

o
Options :
neat writing

| % '855;!'1" oeaDEo

legible writing

-
-~ Q)Rorr oeaitio

writing in big letters
28 @éﬂ“@és oatevslatel

writing 1n small letters
08 ofveen TeabEo

4. %

Question Number : 71 Question Id : 8728341128 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Why have you chosen teaching profession?
S BarEod $BY JothD DotHHTHd

Options :

It has less responsibility

éf.:g_aﬁ mqﬁaéw Tl vulevs!
1. ®

You have mnterest in teaching

F58 2 HH «DHY apHSes
2.9

It has less wok

SZ03 20 Gotnod
3 % =

It has more holidays

. Jﬁ:&é NOJen BotFEow
4.

Question Number : 72 Question Id : 8728341129 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The mmportant quality of a good teacher 1s
Sood a&'t;:ﬂécﬁwﬁlﬁ BoSIeRE SwgreEeasio
Options :
good communication skills

v odgra) (HELD @_?’.;)csrgw

concern for students’ welfare
Dersoe BoZdoo Hey SHS
] b [}

effective leadership qualities

ﬁ@géoé@ﬁ mdﬁ}&é; @éﬁﬂw
3. %

sound knowledge of subject matter
oD DBRAD HBagHw

4.%

Question Number : 73 Question Id : 8728341130 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
To develop cooperation and team spirit among students which activity do you propose
Do gl Sirsedo HdAn R)odirBl Dodfodotn=08 D D TUStnd (PEFHIW
Options :

Debate
so-wilelelal 1‘551:]
®

Quiz
2. ® Bt

Art
, x B¢

Project work
(DBen® 30
4.0 S0

Question Number : 74 Question Id : 8728341131 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Verbal guidance 1s not so effective in learning of
29 @qﬁg?ocxﬁiﬁmé‘:' @Qﬁon“ TG0 wodHrrddosorr okt

Options :
aptitude
Q[andes

(7]

skalls

el -
E@wgm

mtelligence
Bz

attitude
290

Question Number : 75 Question Id : 8728341132 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

[mportant quality in a student 1s
&Jm@%@ Bolse® émaagegmo

Options :

hardworking nature
XA0aES 0
(35} ol

obedience
DBSHE

humanaistic attitude
TR ees cﬁaﬁu\}cﬁo

3. %

independent thinking
srdo(s LET SRS

Question Number : 76 Question Id : 8728341133 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In 21st century, education focuses on development of
215 doed6° &5 & oK B Hh D0
(%] o G = [

Options :

social learning
FSrRd egfdso

1. ®

intellectual learning
DSB8 @S0

2. %

emotional learning
e,?SE'Eﬁ;r‘i ?_—ﬂc’,ﬁéééo

3. %

socio-emotional learning

FeSoess :,rﬁﬁa’;ﬁ Shvirsiile
4.

Question Number : 77 Question Id : 8728341134 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Broadly education means development of
OYTBos® Q& ..o ©HBE TobKs
@ o &

Options :

human ntelligence
S H(He

human resources
-~ PR SRGe

good humans
008 R0

human activity
SRS sStorare

4. %

Question Number : 78 Question Id : 8728341135 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The purpose of co-curricular activities 1s to

—
D -l oeErlerare k) agrdro
o 7] (& [ =)

Options :

facilitate students’ development
Do @&%&E ée'n‘ﬁ;,c‘ﬁé:o
@ (=]

keep students from dropping out
Dorgyen ErSahone Goto

prevent disciplinary problems
Eo8Zre Sbdeo VarBodito

meet the demands of community
Fired oSdoeen 880

4.%

Question Number : 79 Question Id : 8728341136 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The effectiveness of learning depends upon
ﬁé:ga’:noé@_aiﬁ 0308 E.KJ?_._J 858 sotnod

Options :

effective curriculum
ﬁ&géoé@é éﬂé&@ﬁt’;ﬁ@ﬁ

1. ®

effective methods of teaching

DEHBS0SDE  SETHSSen
A °

effective discipline
‘éa’wga’aoé@aﬁ (B85

effective textbooks

[BH0EY Dl
4. % . = e

Question Number : 80 Question Id : 8728341137 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The full form of NEP 2020 1s
NEP 2020 Go¥) 5378 &rso

Options :

National Education Programme 2020
JERS ADERS (P -2020

1. #

National Education Policy 2020
| VESE NTES ared -2020

New Education Policy 2020

Sor DErTAS Frod -2020
3% - -

Nation Education Programme 2020
L SBS MBS @ -2020

General English

Section Id : 87283438
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 87283445
Question Shuffling Allowed : Yes

Question Id : 8728341138 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group

Comprehension Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (81 to 85)



Read the passage carefully and answer the questions that follow:

The basic principle of Federalism i1s that the Legislative and Executive authority is
partitioned between the Centre and the States not by any law to be made by the Centre
but by the Constitution itself. This i1s what Constitution does. The States under our
Constitution are 1 no way dependent upon the Centre for their legislative or executive
authority. The Centre and the States are co-equal in this matter. It is difficult to see how
such a Constitution can be called centralism. It may be that the Constitution assigns to the
Centre too large a field for the operation of its legislative and executive authority than is
to be found in any other federal Constitution. It may be that the residuary powers are
given to the Centre and not to the States. But these features do not form the essence of
federalism. The chief mark of federalism as I said lies in the partition of the legislative
and executive authority between the Centre and the Units by the Constitution. This is the
principle embodied in our Constitution. There can be no mistake about it. It is. therefore,
wrong to say that the States have been placed under the Centre. The Centre cannot by its
own will alter the boundary of that partition. Nor can the Judiciary.

Sub questions

Question Number : 81 Question Id : 8728341139 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The passage 1s mainly about
Options :

The function of the Constitution
, % Division of powers
Centre-State relations

The spirit of Federalism
4.9

Question Number : 82 Question Id : 8728341140 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
According to the passage. which of the following statements is true?

Options :

The Constitution gives more powers to the States.



, % The Constitution gives more powers to the Centre.

- Neither the States nor the Centre has any powers.

v Both the Centre and the States have equal powers.

Question Number : 83 Question Id : 8728341141 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
According to the passage. which of the following statements is NOT true?
Options :

|« The division of powers is an inbuilt feature of the Constitution.

, % Our Constitution gives the Centre more powers than any other Federal Constitution.

, » The division of powers can be altered by the Centre and the Courts.

The Centre and the States are autonomous in their respective spheres.
4.%

Question Number : 84 Question Id : 8728341142 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

According to the passage. the basic principle of Federalism is

Options :

. Separation of powers between the Legislature, the Executive, and the Judiciary.

Division of legislative and executive powers between the Centre and the States.
2.

, « Cordial relations between the Centre and the States.

, » Mutual dependence of the Centre and the States.

Question Number : 85 Question Id : 8728341143 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The word ‘residuary’ in the passage means

Options :



_ Excessive
1. ®
) % Equal

~ Permanent
3%

inine
L Remaining

Sub-Section Number : 2
Sub-Section Id : 87283446
Question Shuffling Allowed : Yes

Question Number : 86 Question Id : 8728341144 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the word with the correct spelling.
Options :
|« Achieve

, » Concieve

3 Perceive

L% Hygeine

Question Number : 87 Question Id : 8728341145 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the word with the incorrect spelling.
Options :

. » Courageous
- Necessary

_ Characteristic

~ Adolescence
4, %

Question Number : 88 Question Id : 8728341146 Question Type : MCQ Option Shuffling : Yes Display Question Number :



Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The homemade cake was ;
Fill in the blank with the appropriate word.

Options :
| v Delectable

~ Combative
2. %

, « Avuncular

, « lridescent

Question Number : 89 Question Id : 8728341147 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The woman was old and very weak.
Choose the appropriate synonym of the underlined word.

Options :

| % Complicit

~ Active
2. ®
- Frail

Robust

Question Number : 90 Question Id : 8728341148 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

His silence shows his tacit support.
Choose the appropriate antonym of the underlined word.

Options :
|« Implicit

, » Explicit

5 % Complaint



L s Appropriate

Question Number : 91 Question Id : 8728341149 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

To show someone the ropes 1s to
Options :

| » Teach someone how to escape

) % Put pressure 011 s0meonc

3 % Influence someone

L Show someone how to do a work

Question Number : 92 Question Id : 8728341150 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A group of eagles 1s called a
Options :

|« Constellation

, « Convocation

, » Parliament

L Colony

Question Number : 93 Question Id : 8728341151 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Instead of some good music. it was a pretty bad film.
Replace the underlined phrase with an appropriate one.

Options :
, = Inaddition to

» % On the whole



; » Inspite of

4« According to

Question Number : 94 Question Id : 8728341152 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Irresponsible statements always strong reactions.
Fill in the blank with the appropriate phrasal verb.

Options :
| » Bring down

, « Brng forth
, » DBring off

L% Bring forward

Question Number : 95 Question Id : 8728341153 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Hundred rupees are not a lot of money these days.
Identify the part of the sentence with an error.

Options :
| » Hundred rupees

5 o are

; % alotof

_ these davs
4, % 4

Question Number : 96 Question Id : 8728341154 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The film. including the story and the songs. were boring.
Identify the part of the sentence with an error.

Options :
| % The film.



,  thestory

_ the songs

4 » Were boring

Question Number : 97 Question Id : 8728341155 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the correct sentence.
Options :

- The English news are at nine in the morning.

. Mathematics are my favourite subject.
2.

s v My pair of jeans needs no ironing.

L Each of us have work experience.

Question Number : 98 Question Id : 8728341156 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the incorrect sentence.

Options :

- He neither sings nor dances.

He either comes or calls.
2. %

_ He will have either tea or coffee.

He will neither comes late nor leaves early.
4.¥

Question Number : 99 Question Id : 8728341157 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Fill in the blank with the appropriate connective.
He had the map. he lost his way:.

Options :
| « Although

, % Whereas

So

3. %

Yet

Question Number : 100 Question Id : 8728341158 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

The word “bookie’ 1s associated with
Options :

| « Publishing

- Libraries

- Betting

Binding
4. %

General Knowledge and Educational Issues

Section Id : 87283439
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 87283447
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 8728341159 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :



0
Correct Marks : 1 Wrong Marks : 0

What 1s the theme of “World Environment Day’ for the year 20227
(5505 Jodse BIFEBo 2022 D HQE?

Options :

Ecosystem Restoration
6l 0 i To o= BV PO B Tov Lo ol Te o
= 9 Q (=]

1. #®

Only One Earth

aH o X

Global Pollution
_ [BDoS seensso

Time for Nature
$%)8 E%So Ddshbabo
4, ®

Question Number : 102 Question Id : 8728341160 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
Who 1s the Present Cabinet Minister of the Ministry of Education in India?
(58 Sol Doy 7o SRS ol JBB?
Options :
Shr1 Ramesh Pokhriyal
18 857 DS

Shrimati Nirmala Sitharaman
5 % B8 D borood

Shr1 Dharmendra Pradhan
L, 85008 BeS

Shr1 Rajnath Sing
. & o=f =& 2oh
4.



Question Number : 103 Question Id : 8728341161 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
Name the person who 1s a 125-year old yoga practitioner serving leprosy- affected
people for about 50 years and won Padma Shri in 2022
Bodrd 50 QP Dp TR D DKo i 2022 & &) (B 0%
NeohHE) 125 F Erre FEHD ISK?

Options :

Tulshi Gowda
oot 78
1%

Avani Lekhara

L OO Spoe

Swanu Sivananda

- %:Sb Bos

Devendra Jhajharia

B30 BpBpdasre

Question Number : 104 Question Id : 8728341162 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

Which 1s the host city of Commonwealth Games 20227
T3S N 2022 & edgo a8 Ko 28
Options :

Rio de Janeiro
B3 Bads’

1. %

Birmingham

m&&oﬁ#i}
2. %

Mumbai
Swod

3. %



Melbourne
DSSG

4. %

Question Number : 105 Question Id : 8728341163 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

What 1s the name of the mitiative of the Government of India to celebrate and
commemorate 75 years of independence ?
75 Soddyore FrBol; Ibhded wHHE I8 DB (BowE iR s (Hihdo
QEo0ohS FHE DB HTE?

Options :

Unnat Bharat Abhiyan

aHs 786 b

1. ®

POSHAN
RS

Pragyata

(Bdrregs
3. %

Azadi Ka Amrit Mahotsav

@b = @5335 a‘nﬁséﬁ
4,

Question Number : 106 Question Id : 8728341164 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

Which state in India has the highest number of Geographical
Indication tags in India ?
8% B¥0&t ©SBE FR0E LoDk ersfiods 50R &%) oogo 28?
Options :

Tamil Nadu
e S

Kamataka

) ﬁcg;éaﬁ



Telangana
SLOorre

West Bengal
S8y Dorrd

Question Number : 107 Question Id : 8728341165 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
How many countries are there in the world?
(HHos Indo BT Qogy

Options :

v 195

183

2. %

200

L 197

Question Number : 108 Question Id : 8728341166 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

What was India’s rank m the Global Hunger Index 2021, out of 116 countries?
116 330&° ([HH0s XD SrA% 2021 (P80 886% ool dod?
Options :

1. ® 94

38

2. %

64

3. %

, v 101



Question Number : 109 Question Id : 8728341167 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
What was the theme of India Pavilion at COP-25 at Madnid. Spain
in the year 2019?
2019 ﬁoée‘é&éoﬁs 00N &*0 Sm A8 &° 18”8 COP-25 &° 8
2DDADT b DpE?
Options :
150 years of the Mahatma
- HFEn0 150 Sod&yoeen

Enabling the Revolution
- DR ([@=Booitio

Rural India
- (r&oes r88Es0

India and a Better New World
TEETEo Hobw HEHPS TY (HHoso

4. %

Question Number : 110 Question Id : 8728341168 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
Which community Radio Station inaugurated by PM Modi in April 2022 was
dedicated to animal husbandry
DBS 2022 &° (HErR Brd T (@B0DoDS D Z5n0E TEDe BT SOLEBD
woldo Jrk?
Options :
Gomata Vani
L% RP5mes ad

(Gaushala Vam
e =%

Banas Adi Katha

s Dorn ob 58



Dudh Vam

&8 7B
4.

Question Number : 111 Question Id : 8728341169 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
How many places m India have been mscribed in the World Heritage Sites list?
B0 B8, s’ grEstdos” AR (BdTer ddodnran?

Options :

L= 38

. 50

Question Number : 112 Question Id : 8728341170 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

From the point of view of population control through family planning
there should be
Bénon Ddbo|@e oxoe axrye Odbol@n ég&'aécaoé‘g‘ lelerdd)
Options :
More literacy of males than females

Qe o8 o058 @Qwﬁgé Qfﬂi}é
1. %

More literacy of women than men

J t o PP o
- HSe %08 he OEoed QXD

Eradication of illiteracy of the old men
. K)ejrfge: QEEo=E DETeR
3.



Emphasis on expansion of education
D& VI8 am=bd
f] — - )
4. %

Question Number : 113 Question Id : 8728341171 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

Chipko movement was first led by
D5F) BEsirls Dot TohiEo SirolaT

Options :
Sunderlal Bahuguna
| v 0088 & T0iHes

Rajiv Gandhi
iS5 rob

Ramdev Mishra
o B8 ol

Indira Gandh1

zoboe o

Question Number : 114 Question Id : 8728341172 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
Maximum air pollution 1s caused by
69 Sg KoHorr Frain Tenio D&
Options :
Smoke
&

1. %

Insecticides
 JBorbsbothen
2. %



Industries
sk DBFen

automobile exhaust

e andS D
4.4 = =

Question Number : 115 Question Id : 8728341173 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
It 1s believed that the thinning of the ozone layer 1s the result of
chlorofluorocarbons.
L858 &8 Sendodwo E696° 8T © $D8DHED SSE.
These gases have been used in:
Sedinen noHst ﬁé@ﬁoiﬁmmﬂ:m

Options :
Electric heaters and clothes driers
DoBE Sredy b nien [HoHE

1. #

Spray cans and refrigerators

. sy 8o 8hEtRs
2. ¥

Cigarette lighters and air-conditioners

| BT Do HBd Jonb LoBSsE

Washing machines and wet grinders
0l B Hdcin W [ody

4.%

Question Number : 116 Question Id : 8728341174 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

The winner of the 2021 UNESCO’s King Hamad Bin Isa Al-Khalifa

Prize for the use of Information and Communication Technologies (ICTs)

in Education is.....

&me;éorioéﬁ DS, (DS FoTdE &Jag:aﬂe: (ICTs) ass3&@=reQ8 ( UNESCO) ’.—::.5_3

Boff 52508 A5 =23 of pdFF osroshd 2021 HES



Options :

IIT, Delhi
0.0.8 &;Q

1. #®

NIT, Warangal
5w I0.0.8 SBord

NIEPA. Dellu
IR.2.2.0.d &

3. %

CIET, Dellu

4 b.ood &Q

Question Number : 117 Question Id : 8728341175 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

The Five Foundation Pillars of NEP 2020 are ...
29 =8cH oy o 2020 & Joxo0dodE 5 sredozren

Options :

Affordability, Accessibility, Accountability, Equality and Quality
E@{:@é, ©otHrtn, aarntEbsNo, SErdE bk TeeaS

1. ®

Affordability, Accessibility. Equity, Equality and Quality
ei’lééaé, BOEIZTED, PN, JNTHE B m‘caﬂf;é

2. %

Affordability, Accessibility, Accountability, Equity and Quality

. &iﬁés’wé, oy, marmnmrbdNo, P8 Hdakn e
3. ¥

Affordability, Accessibility. Accountability, Quantity and Quality

. éﬁ;a’wé, Lohertn, sTrmreEto, H85mmo Bk aﬁeaaé
4.

Question Number : 118 Question Id : 8728341176 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0



NEP 2020 focuses on promoting “Experiential learning” in all stages. It will
be adopted except for one of the following.
et Llovy Doy Do 2020 o8 .%;om.}é" “odPTE)E © ;‘éﬁé&}é}“ S drotheoD

$A DHSod. 28 S Eod TES° 2.8 =08 $Bou.
Options :

hands-on learning
(BErrrd)E egfidvo

story-telling-based pedagogy
¥ egeds @dﬂ:{ﬁaéo

scriptures — based pedagogy

s (o s5ebs @Eﬁﬂ:{f}aﬁo

sports and arts-integrated education

_ (B8 oo S¥e Sombs 9
4.

Question Number : 119 Question Id : 8728341177 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
How many channels are there in Swayam Prabha?
Srabolss (Swayam Prabha) 6° o8 TR damon?
Options :
| % 23

, » 30
v 34

42

4. %

Question Number : 120 Question Id : 8728341178 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0



Which of the following is the scheme which the Ministry of Education has
launched a mega online challenge to test the ability of students to mnovate?

Do edbes %a‘o%ﬁ)& H6Bothet Doy HolB8& 7w @’}3%‘3}@5 Torr 8588

T808 JKHXo:

Options :

SPARSH

1. %
, « SAMMAN
, « SANYUKT

, » SAMADHAN

Question Number : 121 Question Id : 8728341179 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
What 1s the full form of MOOC?
MOOC f.ﬂ:oﬁé FRB8TH0w:

Options :

- Massive Open Objective Course

, « Massive Online Open Course

; » Massive Open Online Course

, » Massive Open Online Content

Question Number : 122 Question Id : 8728341180 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0



SWAYAM is initiated by Government of India with the objectives to ...
FEE (Hgd&o SWAYAM & @60&]0&3&:@5}0 egTen.

i)  Provide quality materials with nominal cost
TS §EE° o (R ©obotHe:

ii)  Ensure best quality content is produced and delivered
odrd Trrpd OA% DRAER) Srdrobod eoiEain

iii)  Assess students continuously and grant degrees
Dopdoorh ABosd dreyoiso =% Blfeod wosEdsne

iv) Accessed by anyone, anywhere at anytime
DHBTTE, VBB, JAPETT ©otHrtns® aodio

Options :
i, Qi and iv
i, ili obain iv
1. ¥
i, i and iii
, % i, i SoBdsn il
i, i and v
1 i SoBcso iv
3%
i, i and iv
i, i HBds» iv
4.

Question Number : 123 Question Id : 8728341181 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

0
Correct Marks : 1 Wrong Marks : 0

Till which year Rashtriya Uchchatar Shiksha Abhiyan (RUSA) has been
approved for the continuation?
=805 a8 DoiS (RUSA) O Sos8)Bo $8% emens® solm=08

wardodntod?
Options :

. 2024

- 2026



|, 2028

, = 2030

Question Number : 124 Question Id : 8728341182 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
Which of these 1s not a qualifier for the EWS quota?
EWS &%¢8 o8 =387

Options :

Less than 5 acres of land

% 5 Q¥ore S08 éfoéaﬁ gor&

Annual income less than rupees 8 lakh a year
8 efe Srardhedts 8% ewabo

Residential home smaller than 1,000 sq. ft
2, Sl 3885 ebhmhedth g)fqiﬁma'm XOAN Da=m r‘@?’mo

3. %

OBC. SC. ST Caste certificate

+ v OBC, SC, ST %o (ghsdido

Question Number : 125 Question Id : 8728341183 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

A student pursuing a Masters Course 1n Science (M.Sc.) has chosen a course 1n
Buddhism from Philosophy Department under CBCS. Which course does
Buddhism represent?

(I\’I.SC.}EE@J (33:%';&%'“@068 éﬁéﬁb) BHHHY) 28 dod CBCS o Derdd
ErBF0T D0k cnfesd E55)% dohBanh. mpuh % (Bod +8&° D Sk

W (=
e dob.
Options :
Core

- (S=d Hcho



Ability Enhancement
é‘ﬁag oEe

2. ®

Elective

o
3 5}‘?:"3«.;0

Foundation

DTE
4, 8

Question Number : 126 Question Id : 8728341184 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
Who is a child as per POCSO act?
POCSO #Qo (Hse8o @ H5cdy) &80 wroen m HBHaR%?

Options :

Anyone below 18 years of age

18 Josi&Bane ZoBl X8 H0ha) aat
1. ¢ o

Anyone below 16 vears of age
16 Sod&Beme Zol S5 Sohay) B)Td

Anyone below 14 vears of age
14 o5& Bsme LoBl S50 Hchy) af)=t

Anyone below 10 years of age
10 Jo5&Bsme o8l S5 5 B)e

4.%

Question Number : 127 Question Id : 8728341185 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

Under which Ministry the Scholarship for PMCARES Children’
scheme was launched?
(Berdool® Dye Jo8Sm eSTEIES SR D Do@& Ty (F5ododos?

Options :



Ministry of Women and Children
& $Bcs» 8% Hol@& Y

Ministry of Social Justice and Empowerment

., SR Sygersiepailolevey FHTBE o@E Ty
2. ¥

Ministry of Law and Justice

. {ﬂ%O 0B aﬂéééaa’)m@é;@m
3.

Ministry of Home Affairs

L o aﬁaéa’:swm Sho|BS T

Question Number : 128 Question Id : 8728341186 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

St1 Kaloji Narayana Rao University of Health Sciences is located in the district of
@ =52 Trordhn ol @EBHE.: GitS) &Jrﬁ;&)m?@cﬁm DY) Ve

Options :

Hyderabad

o alog=ula]
1%

Warangal
| o SBoE

Mahbubnagar
s % SoaEdSNG

Nizamabad

Dardrrs
4, %

Question Number : 129 Question Id : 8728341187 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
Which of the following scheme provides Education to Girls and their
welfare?
& (Bod SE=edt 0% 83655 Evolaloves) éoééaméfa HonoBodEd 67



Options :

UJJWALA
L% &a;@

One Stop Centre Scheme
5w BN D Pobd Sg%o
SWADHAR Scheme
T8 HE¥o

3. %

Beti Bachao Beti Padhao
v o8 oS B8 Soes

Question Number : 130 Question Id : 8728341188 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

0
Correct Marks : 1 Wrong Marks : 0

Full form of PARAKH:
PARAKH @Dw¥) Fr Brddo:
Options :
Performance Assessment, Review, and Analysis of Knowledge
tor Holistic Deployment

Performance Assessment. Review, and Analysis of Knowledge for
- Highest Development

Performance Assessment, Review, and Analysis of Knowledge for
, » Holistic Development

Performance Assessment, Relation, and Analysis of Knowledge for
, « Holistic Development

Computer Awareness

Section Id : 87283440
Section Number : 5

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20



Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 87283448
Question Shuffling Allowed : Yes

Question Number : 131 Question Id : 8728341189 Question Type : MCQ Option Shuffling : Yes Display Question Number

: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

The following are the components of Central Processing Unit (CPU)
ZSolbch Ded dgriso So¥) gerren 2 ?

Options :

Arithmetic logic unit, Mouse

" ©oXne 8% dzriio, P

Arithmetic logic unit, Control unit

- T olelpls13] z=8)% Derito, Dobo@es Dgeiio

Arithmetic logic unit, Integrated Circuits
- (loletpla11] =85 Darito, é&"oé@é Sediren

Control Unit, Monmitor
Qoholges Dgrito, Srded

Question Number : 132 Question Id : 8728341190 Question Type : MCQ Option Shuffling : Yes Display Question Number

: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

What kind of data 1s processed by an analog computer?
%ﬂé:ba’ng Xod 50@5&5 & Smozl) &)ﬁﬁq@c&

Options :
Discrete Data
5% (Discrete) Ss=odo

1. %

Intermuttent Data

.- oS SoFdoth Sozodan

Discretely varying Data
Sedhen) D355 ( Discrefe) Sarodsin



Continuously varying Data

P DBosdo s Sorodan
4.

Question Number : 133 Question Id : 8728341191 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

Which level language 1s Assembly Language?

@?\:o.ﬁ o R Egom e ?
Options :
high-level programming language

oS Srow (&0l R

1. #®

medium-level programming language

L Soo¢ir 0B 5(;0:0 o]

low-level programming language
wh
v ©e) ﬁ;oo:; PR

machine language
airo|BE 0

Question Number : 134 Question Id : 8728341192 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
What 1s full form of GUI related to computers?
Eoryab Sonohod =.aw.o (GUI) osrr J&n?

Options :

Graphical user Instrument
(rHES chred as(Eeot

1. ®

Graphical unified Interface

L [THES crRPE 30659

Graphical unified Instrument

. [(reES arlRE ad ool
3.



Graphical user Interface
o (23S el m0883%

Question Number : 135 Question Id : 8728341193 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
Verification 1s a process of
Céejfi)ﬁiﬁea H8a% d&?

Options :

Access

eothartn
1. %

Login

erNEn ©HeL%
2. %

Logout
NS 05

Authentication
4 DoBothé®
. [

Question Number : 136 Question Id : 8728341194 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
USB 1s which type of storage device ?
0. 8.8 D 8B5S e, 0T HBEBEW?
Options :

Primary
e

Secondary

&-8a%h
2.4 %

Tertiary
&HBod
3. %



Auxiliary

xS

Question Number : 137 Question Id : 8728341195 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

Arrange 1n decreasing units of memory sizes — TB, GB, PB. MB.
The correct order 1s-

¥ Darrre EHEHK) HoErnos” ©Hdsgowd, TB, GB, PB,MB o
RB® HHJ (Bdbo 287

Options :

- GB> PB> TB>MB
PB>TB>MB>GB

PB>TB> GB> MB
3. ¥

TB> PB>GB>MB

4. %

Question Number : 138 Question Id : 8728341196 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

Which of the following list shows memory types from highest to lowest

access speed?

@éﬂ:@ﬁo Dok @ég)a}go SH0 555 ©ocrtnd® sot b Ssodtla Ha?

Options :

Secondary storage, main memory, cache, registers
. Foltelnta) ﬁéféi, oS b, =8, 6&‘@53

Registers, cache, secondary storage, main memory
8238), =8, Foelelnla) Q;é'd':g, Hhows Foob

2.8

Registers, cache, main memory, secondary storage

s » 8285), =8, oS Db, 1Eord P



Cache, registers, main memory, secondary storage
=R, 8255, Fo0S b, DEosd oS

4.%

Question Number : 139 Question Id : 8728341197 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

ONE Mega Byte 1s equal to
e.% e BT 68 JBeKo
Options :

1024 Bytes

1024 Bexn

1024 Kilo Bytes
v 1024 &&° 3en

1024 Giga Bits
1024 Are Bép

3. %

1024 Bits
1024 ey
4. % -

Question Number : 140 Question Id : 8728341198 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

Which device among the following is used for sending digital data
over a phone line ?
S B8 oooe 0¥ Szeowl) HoPGHDH Sd@rNoD BeHESmo
Options :
USB
% O0.00.9

Scanner
%3;65

Printer
- (2ol



Modem

L Evsitnte]

Question Number : 141 Question Id : 8728341199 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
Microsoft office 1s a type of
DEFT 0T o O =08 TodK?
Options :
System software

L w cholg Lyherorio

Application software

5 BRHZ Syberolio

Utility Software
, x SRVTEN Sytherolio

Firmware

Sosroiio
4, % @

Question Number : 142 Question Id : 8728341200 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

Which type of switching is used in Internet ?
@oéo;mo@ﬁa 2 85D 5r8)& (switching) ed@rAT=5?

Options :

Packet

Tl
1.« @

Telephone
abiletudas

2. %

Cyclic



Telex
EEE‘J

4. %

Question Number : 143 Question Id : 8728341201 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
Which 1s responsible for communication between Memory and ALU ?
Db Dzrrrdd HBAd woiKBS 38) Hgrrrdl Sy SErorTeR) 8F)8?

Options :

Keyboard
& 5%

RAM
©8.2. 20 (&)

Control Unit

v Dadbolgies Hariio

USB
ciw. .8

Question Number : 144 Question Id : 8728341202 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
The contents of are lost when the computer turns off.
Lol § eBRBHPE 20&56°9 oo 6% meon
Options :

storage

Dexr
1. % i

mput
- (K38 dgriio

output
- :oﬁrfg Do



volatile memory

@28 Db
4. o

Question Number : 145 Question Id : 8728341203 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of hardware?
28 %87corrQ8 ( hardware) eS8
Options :
Assembler
| & ©R0R5

Server

i ad
-~ eacﬁwS

Compiler
, x Zopob
Interpreter

4 % zotb(D08

Question Number : 146 Question Id : 8728341204 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
A device that 1s connected to the motherboard is called
H58 8% efsodod adEdno
Options :
an external device
| xR eSS0

an adjunct device
X&EaD (adjunct) 85580

peripheral device
3 H8&ch al%seso

a ribbon cable
L w B Zond



Question Number : 147 Question Id : 8728341205 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

What do you call a computer on a network that requests files from another computer?
2.¥ ﬁo?’.g}véé.ﬁ RaorstBo D 2SS 50.?@?5&35 ool &(Zren @gofﬁéﬁa R0 2otrn?

Options :
a client

2% Xonoed
1.

{63

a host
2% o830

a router
2% S8

a web master
28 35 KJJUQE

4. %

Question Number : 148 Question Id : 8728341206 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
Which of the following best describes the WAN
Bod =&S° a.0.a5 (WAN) 8 $8owid
Options :
Connects LANSs that are separated by a large geographic area
- DY) FTFHE [Fromre Ao Eéaédimcé O5.2.a8 ( LANS) 08 ob060u8

Connects workstations, terminals, and other devices in a metropolitan area
D\ FO0S [Frodod® SVZero, 8 FSoH HBdn 388 BHESeTOD

woKNodoss

Connects LANs within a large building
28 28 FS¥o® af) 96.0.05 (LANs) o edodoid

3. %

Connects workstations, terminals, and other devices within a building
2% 958os® a’:&)‘g@ﬂﬁ:, é}&é&éﬁ@& $o8cin 288 adidrod ©XbdoB058



Question Number : 149 Question Id : 8728341207 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
What's a web browser?
3T (Te:8 0o DE?

Options :

A kind of spider
28 BEDS FBYLID

A computer that stores WWW files
WWW &zred Qe @0 ¥ 50@5&:5

2. %
A person who likes to look at websites
—— T -]
- S0 PR Trio IRDG 28 5

A software program that allows you to access sites on the World Wide Web
HBG 6 I D By PR TrHLD o8on ¥ Ly)theror (BXodE

4 » (software program)

Question Number : 150 Question Id : 8728341208 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

The outcome of system analysis says that a suitable model is to be suggested
when the changes requested by the customer need to be quickly incorporated

mto the system. which model of development 1s most suitable:
DAt @::‘55%0{’.}66 PS8 SRS Bsorraro 5555?0‘;58 & e SroNdTed

B0 D30 HOS0 Twhod. DB ¥ ©HHB He?
Options :
Waterfall model
|« T8 b Sl

Spiral model
DS B
2. ®

Agile model
s v OB S5



Evolutionary enhancement model
4 % 20D DBorvde HrD



